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C105 [f@A&IER (UNZSHIUNASY) 0.3 (%) (1BISENERRAS/INZSHIUR A ) x 100 3005
C106 [f@A&IER (BAKUIAS) 44.9 (%) (BABERAS/EANILAS) X100 3006
C107 |BEE—ASTz DIA/KINE 133,469 (FA/N) HIKIRZS B EPT IS 21 3007
C108 |[f/KINE(C T BMERSEDES 6.0 (%) (BBHB5E/HKINE)x 100 3008
C109 |#a7KUNZS (T3t BIEEFB RS 3.5 (%) (REEFIS/#aKINES) x 100 3009
C110 |#a7KUNZS (T3 BRTHEE DRIS 30.5 (%) (RATHEENE/#87KINES ) X 100 3010
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C201 |/KERFTICBI 9 2 BIREVEE 3.25 4/ XN) BN EYS U TV BKERA(CRI T 2 B84 / SME% 3101
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A4 C206 |EEBIRESL 0 (A-B) s (ERRHRESR x BEEHK) 6001
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